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PŘIJÍMACÍ ZKOUŠKY Z ANGLICKÉHO JAZYKA 

Čtyřleté studium

I. Read the text and mark the sentences TRUE or FALSE:

Men are better navigators than women

Most men have a natural ability to read maps while women usually need to turn them round.

How come? Science says: Men are able to see the size and position of things much quicker than women. 
This ability is called ´spatial awareness´. Researchers discovered in a study of four-year-children that only one girl has this ability for every four boys. Once again, the explanation can be found in the past. Do you remember  those prehistoric women? Well, while they were looking for fruit, the men travelled long distances to hunt animals. When they had caught enough, they had to find their way home again. And this is where they learnt ´spatial awareness´. The women didn´t need it, because they hardly ever went out of sight of their homes, 
but for the men, it was vital.  

Boys learn spatial awareness before girls.                                       

True/False                                                        

Women didn´t need spatial awareness in prehistoric times  because 
True/False                                                  they  didn´travel far from home.                                                                   

While the women were looking for fruit, the men travelled            
True/False

long distances  to find some vegetables.     

For men spatial awareness was extremely important.                     
 True/False

II. Fill in the gap with the correct preposition:

1) My boyfriend isn´t very keen on vegetables.

2) That girl reminds me of my cousin Barbara.

3) We might go camping but it depends on the weather.

4) They are worried about their teenage son.  

III. Circle the correct answers:

1) What a beautiful day! Let´s have lunch / a lunch.

2) My sister is married to a German / German.
3) Don´t worry! It´s not end / the end of the world.

4) Did you lock the door /door when you left our house?  

IV. Multiple choice: circle the letter of the correct answer:     

Making Honey

Do you like honey? Honey is a (1) A product, and it is made (2) D honey bees. It has a special sweet flavour, (3) C some people prefer to ordinary sugar. Sometimes, it is even possible to (4) A from 
the flavour what kind of flowers the bees (5) B before producing the honey. Have you ever (6) C about how honey is produced? Beekeepers – people who look after bees – are very important in the making of honey. They (7) C the bees in their care produce (8) D honey than is needed. Then the honey can be removed (9) B causing problems for the bees. Honey collection is an ancient activity, (10) B back at least 10,000 years, and honey has (11) A increasingly popular nowadays as a healthy food.  

1.   
A natural
    B  true
   C  clean
  D  whole

2.   
A  of                   
    B  from              C  with               D  by

3.   
A  what                   B  who               C  which            D  whose
4.   
A  know                  B  take               C  inform           D  answer
5.  
A  went                   B  visited           C  met                D  passed

6.  
A  considered         B  guessed        C  wondered     D  doubted

7.   
A  start                    B  cause            C  let                  D  bring

8.   
A  much                  B  many             C  most              D  more
9.   
A  although            B without          C  instead          D  unless

10.  
A  coming               B  going             C  falling           D  moving
11. 
A  become              B  turned           C  gone              D  change

V.  Make a question asking about the underlined expression:

1) I saw them last at Jim´s party. – When was the last time you saw them?/Where /when did you see them last?/ Where/when did you last see them?
2) Ann was looking for her car keys.- What was Ann looking for?
3)  The car was designed by Mercedes. – Who was the car designed by?/ Who/which company designed the car?/By which company was the car designed?
VI. Complete the sentences with the correct form of the verbs in brackets, either active or passive:

1) The part of Spiderman is/was played ( play) by Andrew Garfield.

2) You don´t have to worry ( not to have to worry) about it.

3) As soon as our boss returns/has returned (return), we will start the meeting.


4) How long have you been studying/have you studied … ( you, study) English? 
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